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Let’s Learn! @ S + 7 + 6
Adding Three Numbers
© 5:746m7 } Make 10 first.
5 +7 + 6 Step] FREE I8
Make 10 first.
© (stepl s 'l Step 2 5+3=38
Slep2) 2+6=8 S’rép3 10+8=18
Step 3 10+8=18
So,5+7 +6=18.
So,5+7+6=18.
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€ Whatis 545 - 77 @ Whatis 345 + 80?

Subtracting 7 is the: Adding 80 is the

same as subtracting same as adding 100 80 =100 - 20
10 and adding 3. and subtracting 20.
Flfsfsubfrodwfrom 545.  545-10 =535 First, add 100 to 345. 345 +100 = 445

ir_l‘.Then," Qddsfo ‘fhe result 535 +3 =538 Then, subtract 20 from the result. 445 — 20 = 425

So, 545 -7 = 538. So, 345 + 80 = 425.
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© Whatis 86 + 952

86 + 100 =186 First, we add 100 to 86.
!
86 +95=186-5 Then, we subtract 5 from 186.
= ]8] ~

Do you know why you add
50,86 +95=181. 100 and then subfract 52

o

© Whatis 94 + 977

100 + 100 = 200

l
94+97 =200-6-3

=191
So, 94 + 97 =191

944and 97 N

First, we add the
hundreds.

Then, we subftract 6
and 3 from 200.
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Estimate the value of 23.64 =+ 3.

s (24325) /2'

23.64
N\ 24

Then divide.
24 +3=8

B ;ﬁ So, the value of 23.64 + 3 = 8.
n

L] J: IZE t _F BE 75\ E) i& m Estimate to find the quotient.
ﬂQL © 123+3 O 1775+9 @ 2099 +7
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@ Calculate 40.4 + 5. Then check if your answer is reasonable by estimation.

EE mIcs Calculation Estimation
fr O /& " 8.08 40.4 = 40
Dziﬁd)n'ﬂ??‘IJ s 204 40 +5=8
2ELTDERE .
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0.47 is 0.5 when rounded off to the nearest tenth.

05X 4=
So, 047 X 4 =
o 346 - 4

32+ 4
TR /
346 =~ 4
\ 36 -4
3.46 is nearer to 3.6 than to 3.2. 48
36 +4=
So, 346 - 4=
528 + 6 48.5 8
R /
528 + 6 \
54+ 6
5.28 is nearer to 5.4 than to 4.8.
54 +6=
So, 528 = 6 =

@ Calculate. Then check if your answer is reasonable by estimation.

O $1242+ %1264
B $1.79x3

O $145—5054
O s145+5

Get your child to use estimation to check if his answer is reasonable. He can do so using mental
calculation. For example, 028 + 5=~03 + 5

= 30 hundredths < 5
= 6 hundredths = 0.06

[ WB4B,p 59
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You can use your calculator to work out 26 + 56 =+ 4 like this:

Which operation was done first?
Which operation was done next? Press

26
| 56
4
26+ 56 + 4= i

The calculator worked out 56 =+ 4 first.
Then, it worked out 26 + 4.
It considers the order of operations automatically during computation.

Most everyday calculators (for instance, the calculator on your mobile phone, etc.) do not consider
the order of operations automatically during computation, while a scientific calculator (for instance,
the calculator that your child is using in school) considers the order of operations automatically.
Get your child to key in“2 + 4 x 2" using the two types of calculators. He will get different answers
— 12 and 10. The answer derived on a scientific calculator is correct as it follows the order of
operations by computing “4 x 2" before adding 2 to the result, while the other calculator computes
“2 + 4” before multiplying the result by 2.

' easio

SCIENTIFIC CALCULATOR
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2.7
5 t4g =

Th £37 and 42 is 8k
€ sum o 5 an 8 IS 40°

: 2 7
@ The sum of 33 and 45 ~ 8.28.

=~ Find the sum of 33 and 45. Express your answer as:

% amixed number [ adecimal correct to 2 decimal places

Press

V729 =§

=2 | Find the cube root of 729.

Press
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